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VERS UNE UNITÉ D’ENSEIGNEMENT 
INTÉGRÉE EN BLOC 3 BASÉE 

SUR L’ÉCONOMIE EXPÉRIMENTALE

Contact : benoit.decerf@unamur.be

OBJECTIFS

Favoriser l’intérêt des étudiants et une 
compréhension approfondie des concepts 
de base des cours de théorie des jeux et 
d’économie industrielle.

Augmenter l’attractivité du programme 
d’économie de l’Université de Namur.

FACULTÉ/DÉPARTEMENT/UE
Faculté des sciences économiques, sociales et de gestion

Département des sciences économiques

UE : Théorie des jeux (ECGE_B362)
         Economie industrielle (ECGE_B262)

PUBLIC CIBLE 
Bachelier en économie (Bloc 3)

RÉALISATIONS

Création d’une unité d’ensei-
gnement intégrée mettant en 
œuvre un apprentissage par 
problèmes et par projets

Développer une activité péda-
gogique étalée sur plusieurs 
semaines où les étudiants, par 
petites équipes, jouent en ligne 
des jeux issus d’expériences 
développées en économie com-
portementale

Création d’une plateforme web de 
jeux d’économie expérimentale

PUNCHEURS 

Benoit
DECERF 

BONUS GAME 2

Name: First Name:

Gender: Signature:

Circle your gender: Male Female

How to compute bonus points

The number of bonus points a winner gets isX = 1

10
(Y +Z), where Y = πB1+πB2+πB3+πB4+πB5+πB6

and Z is the number she declares in the game A “Selection of winners”. Constraints on bonus points:
a winner cannot receive negative bonus points nor receive more than 1,5 bonus points. If her X falls
outside these bounds, a winner receives the bonus points corresponding to the nearest bound (0 or 1,5).

A) Selection of winners

Select a number in [−15, 15]: (decimals are allowed)

The SIX students with the smallest number are the winners. Ties are broken down randomly.

B.1) 3x3 Game

Males circle one strategy in {U,M,D} and females circle one strategy in {l,m, r}. Your payoff πB1 is
the average payoff obtained by your strategy when played against the strategies of all members of the
other gender.

Male

Female
l m r

U 4 ; 4 6 ; 2 0 ; 2
M 0 ; 0 0 ; 6 4 ; 6
D 2 ; 4 4 ; 6 8 ; 0

B.2) Sequential prisoner’s dilemma

Regardless of your gender, circle one strategy for player 1 and one strategy for player 2. Your payoff
πB2 = 1

2
(πS1 + πS2). The payoff πS1 is the payoff you obtain for the strategy you circled for player 1.

πS1 is equal to the average payoff this strategy yielded when played against the strategies – circled for
player 2 – of all students. The payoff πS2 you obtain for the strategy you circled for player 2 is computed
similarly.

For instance, assume that only three students play and, for player 2, two among them circled strategy
Mum if Mum & Mum if Confess and one circled strategy Confess if Mum & Confess if Confess.
If your strategy for player 1 is Confess, then πS1 = 1

3
(6 + 6 + 2).

4; 4

1

ConfessMum

2

Mum Confess

0; 6 2; 26; 0

2

Mum Confess

Strategy player 1

Mum

Confess

Strategy player 2

Mum if Mum & Mum if Confess

Mum if Mum & Confess if Confess

Confess if Mum & Mum if Confess

Confess if Mum & Confess if Confess

1
Je suis en charge d’une matière (la théorie des jeux) 

que l’on peut pratiquer en jouant, pourquoi s’en priver ?


